DP 2938P
1+650.000

DP 2938P

1+600.000

DP 2938P

1+550.000

DP 2938P

1+500.000

DP 2938P
1+450.000

0066

- €8L -+ 6T'STT A AN
- €TL + 6LYTT A STAE
- €49 + 6LVTT A - 870 -
- 86'S + 67'STT - 810
3 - ST'S + 9€'STT A - ozo -
g q L 00€ +6r'ser 9SS+ 388
LTSt + 00 A
m
~
‘ L €€'SZT + 010
- 000 - STSZT+ 0E'STT+ SO0
%k
=)
o~
- 90 + 0T'SZT+ 0T'STT+ 000 -
m/w
1
- 00'€ - 6T'SZT - €00 -
- 00V - €1'SZT A - z00 -
- 07'S - €€VZT A - zo A
- 0L'S + €€VZT - ozo -
069 | erszr 910
ooz T T T 7
‘» [} <
o o O
~ ©’ >
c o © — oy c
- € o oY) — °
2 9~ © [©) < [
A — o— o + N
N o o R%] —
oo = ) ) 1
= =z S c c =
=} ke ko] C
2 93 93 N
B N N he]
O o o Y
- €8L + T6'STT - ozo -
- €7/ + T1S'STT A - €20
- €49 + TS'STT - 9z0 -
- 86'S - T0'9ZT - - 120
- ST'S - 80°9ZT - €20
ﬁ - 00'€ + T16'SeT - S6'SCT+ 896 o
il - L6'STT+ SO0
®
o
&
- 000 + L6'STT+ 66'STT+ 200
%k
)
o~
- 0T + T6'STT+ S8'STT+ L00
m/w
~
- 00'€ - T6'STT - oTo
- 00V - S8'SZT - 600 -
- 0TS - SO'STT - s90 -
- 0L'S - SO'STT - 790 -
069 | ¢gszr vZ'0
" oor T T T 7
8 1%
~ ©’ >
c ~ © — oy c
8 = Sl ® ||
()] w .© m 4 N
— B (8] (%) —
— © 44
ey Rog o o @
=z = c c c 2
=} o o] C
2 93 93 N
B N N he]
O o o Y
- €8/ -+ ¥S'9ZT - zzo
- €TL + YT9TT A - 120
- €49 + vT'9ZT - €20
- 86'S - ¥9°9ZT - - €20
- ST'S - 0L/9ZT - - szo
- 00'€ - €5°9ZT + 9S'9TT + @00 =
®
o
~
- €9'92T + 00 -
- 000 - 65°92T + 19°9ZT + 200 -
%&
<)
o
7S'9ZT | €00
- 0T +SS'9TTF F v00 T
< zs'9zT | ¥00
nﬂu.k
o~
- 00'€ -+ £5°9TT - 200 -
- 00V - LY'9TT - 900 -
- 0TS + L9'STT A - 890
- 0L'S + L9'STT - 990
069 | sp9z1 0z°0
" oor T T T 7
‘» (O] e
o o 5}
~ © >
c o © — oy [
o 5 Sl @l | B
)] % © m - N
= A < o 2 =
! I 2 () () @
z =z c c c | £
=} o o C
(%2} P Py N
o N N ‘0
o o o Y
- €8/ -+ 7L'9TT - szo
- €7/ + TE9TT A - 810 -
- €49 -+ 7€'9ZT - 120
- 86'S - 78'9ZT - TA
- ST'S - 88'97T - 870 -
- 00°€ -+ TL92T 17977+ 068 o
LS9zt + 200 A
%ﬂ
)
o~
- 000 - £L'92T+ 8£'9ZT+ 100 -
Mk L vrozt 4+ 100
o~
- ST'T + €L'9ZT+ 69°9ZT + V00
%k
S
(')
- 00'€ - TL'92T - 900 -
- 00V - S9'9ZT - - so0
- 89S - €£8'SZT - 690
- 809 - £8'SZT - 290 -
- 00, + vr9TT 4 + 100 -
‘» Q <
o O o
~ @ >
=) © — oy [
8 n = | 21z |%
o .© o ] N
=4 I © 2 =
ey v o o @
z = c c c L
=} o o C
(%2} o Py N
o N N ‘0
o o o Y
- €29 -+ ¥8'9ZT - szo
- ST'S —+ 76'9CT - 870
- 00€ SL9TTA o gpp £ OB 3
- 28'92T + 800
- 000 - €£'9TT+ 18'9ZT + 800 -
- ZZT + 2L9TT A - €00 -
%
2 -zL9zT + 100 A
- 2Z'T +0L9ZT+ 0£'9ZT+ 000 -
M/U.k
(')
- 00'€ - 69'9ZT - - 200 -
- 00V - £9'9ZT - - 100 -
- SS'S -+ €5°9TT - 000 -
| sz9 | erser L vzo |
moos TersatT T €20 7
‘» [} N
o o 8]
~ ©’ >
€ & © — ‘T c
% S|l 2| |8
Q5 i o + N
° o o © 2 =
1 " — [} [} w
= = < c c =
=} ke o] C
2 93 93 N
Be) N N he]
O oc oc 0
- €29 -+ £L'9TT A - szo -
- ST'S - S8'9ZT - - 8z0 -
- 00t 89971 coort [ 98B
o9zt 100 7|
o
% S
mn <
=) - 000  69°9¢T - 9L'9ZT + 900 -
Q8 000 + 69'9ZT - 9£°92T
a <
+
04
1 - TET -+ 0L92T - 000 -
8
- T€7 -+ S9'92T + S9°'9ZT + 000 -
%k
<)
o
- 0S'S - 65°9ZT - - oto
- 059 - £5°92T - 600
- 00L + 61°92T + 270 A
8 1%
~ ©’ >
c ~ © — oy c
o 1S o o0 2 o
S ) © [e) c (o
. o™ o— ful + N
© o & © R%] =
1 " — [} [} (]
z =z c c c | £
=} ke o] C
2 93 93 N
Be) N N he]
O o o Y
- €29 €891+ + + szo -
- ST'S -+ T16'92T -+ + 870 -
| ste | 989TT | i
[ ooe T veoer T veoer 000 000 -
o
S o
m <
N O - 000 - L z8'92T
N 0
a ™m
+
o4
f - SZ'T +£L'92T+ L£'92T+ 000 -+ 000 -
%
<
- SZ'7 -+ €L'92T+ €£'92T+ 000 -+ 000 -
%k
S
(')
F - 0SS + 99°9ZT 4 -+ -+ o010 -
- 059 09921+ -+ -+ 600 -
- 00L + LT9TT 4 -+ + zzo -
‘» (O] o
o (S (&)
~ © >
E % kS = ) <
s € o (o) — °
c
N % .© m + _M_Y
© o & o 2 =
! 1 = () () %
= =z| S c c =
=} o o [
(%2} o Py N
gel N N ‘0
o o o Y

DP 2938P
2+000.000

DP 2938P

1+950.000

DP 2938P

1+850.000

DP 2938P

1+800.000

DP 2938P

1+750.000

DP 2938P
1+700.000

_ o ~
S| 8 ¢ g |.
= = c & g o |8 o
Q
<52 s | 58 g @ |5 ©
o ® o =2 o |2
[GR ] 8 x < —
L c [aa] 1= o
orm g [e9] < oS
0 > ™ O ©
My @ a o x
z3Js NZT | &=
w g2 x < = oo E
9= z = =& =
2= - FE <o w 2]
O >_ u N = x = 2
Mo a W c g
- s|1329| 88| © c
Z D ©) = o s bt ™
~ H - O N 4
w2 < W _ o ©
> 00 = R > o !
Q9 =0 o NJ | a
<] S (@] W 101SaMUl o :sidpod :sidpod :sidpod :sidpod [3) 2 —
[GOXCRY o < w = S c
s 8 o O g 2 5| ® |g x
a2 Q= |$c= ©] N 2l ¢ |5 o
® oz N2 @ O g b sl & |g| €
o x<g g2z i Sgz | xTFz o] X 7
o o O ® | = Cla) IS "
2 <O | 843 N 288|508 = >
So 1658 & |E28 (838 T S || &
B Q .S = ceat |za’ ol X
oo [8¢% 3L | N3 L o
>0 [$:.3 28T | 5ad o
mO |6go WO 8 |EQ0 N
N T £ 9 - ST E | 8SacE o
00 [SE= N> A
oo X N N N W N
4 N 2 N - N £ c= £ ©
TR 5| 5809 =
zZ ESO =52 mu B s 3
O LY = DE 0 o0 = I =
a 5 E £ o e |8 S
o a o Q _ < 1
o ° A | «
:e[A1samul [ :mur saipe Ay [jemonyeload pzpmeuds [:jemoiyaloid:remoryalos
L €8'L + 0L'vTT A L szo - L €8, - 86°€CT - L 1€0
L €z + 0EveT A L 810 - L €rL -+ 85€CT A L 10
L €49 + 0£veT - L 120 - L €19 - 85€CT A L sT0
- 86'S - 08'¥CT - szo - 86'S - 80'VCT L 1€0
- ST'S + 9872l - 820 - ST'S - STVl + - vE0
89v¢T | %10
o . . L T - . . . .
; - 00°€ + 69VZT 1 oyzr T 0P T - 00'€ - 86'€ZT -+ Z6'€ZT -+ 20°0
%ﬁ %ﬂ
S )
o~ o~
M LLvel - €00 o W w - y0veT 4 100
n <
- 000 4 scver4scvet 4+ 000 S ¥ w L 000 + vO¥ZT 4 vO'vZT 4 000
a ™m
od&
%w %k
) )
(') o~
- 10T 4 Tver - 2LveT 4+ 000 S - 80°C - 00'VCT + 86'€CT+ 200
%k %k
=) )
o~ ﬁ o~
L 00'€ + 69721 - L z00 - L 00'€ - 86'€CT - L 500
L 00V + €9'v2T - L 100 - L 00V -+ z6'€CT A L 00
L 0z's -+ €8'€T L eco - L oz's -+ zreet S L oc0
L o5 -+ €8'€TT A L oo - L o5 -+ zreet S L 890
069 | eover 91'0 069 | zeezt 8T°0
ooz T T T 7 ooz T T T
3 8|6 8 g |6
~ © > ~ @ >
~ Ee) = c c ~ o — c
= o ‘wm | @ S E & o) ‘wm | 2 S
— et () Ee) k%) — — o o - R%) =
L 2 ) ) © o Ky by p ©
= = c c c 2 2 = = c c =
7 ° ° S 2 ° ° S
3 g g N 5 g g N
N N o N N O
o o o 14 o o o 14
- €8, - 69°€CT - vZ0
L €vL -+ 6TETT A L 610
L ¥8'9 + vEVLT - L 620 - I - I—
g L 109 + Tv'vel - L ze0 - - 86's - 6r€7T L szo
L ST's -+ 98'€CT - L z0
L 10V + LEvTT A L 810 -
f | zzver | eto
; - 00'€ 4 zzvel €ZVZI F 100 T - 00€ T 69T o et b F6B
N N
o o
o
L8z ver 4+ 100 W o - 6L°€2T 4 SO0
m <2
- 000 -+ 8TYZT - LZVZT+ 000 - 9 w - 000 - SL'€ECT+ 9L’ €T+ 200
a ™m
o0&
X °
g w_k
N ~
L 89'€zT 4 €00
m 00T - YTVl STVl - 200 L oT'z 4 0L€7T 4 £9°€TT+ ¥0°0
N o
o.k S
o~ 7. ~
L 00t + zzvel S L 100 - L 00'€ -+ 69°€2T - L 900
L 00V + 9T'veT - L 000 - L 00V - €9°€2T - L 500
L 0z's -+ 9g7€TT L vzo - L oz's -+ €872t L 690
L 0L's + 9g7€TT L 120 L o5 -+ €877t A L 990
k 069 | gryer ST0 069 | coezt 070
" oor T T T 7 " oor T T T
3 g |6 8 8|6
~ e} — c ~ e T [
= o ‘wm | @ S E & o) ‘wm | @ S
= .0 e b= & ° S S 2 & N
=5 O © 2 = 4 o © K% =
L 2 ) ) © [ Ky by p p
z = c c c 2 z = c c c 2
7 ° ° S 2 ° ° S
3 v g N 5 g g N
N N o N N O
o o o 14 o o o 14
- 78 -+ I8'€CT - 820
A A - 6¢0 7 - 86's - 96'€zT )
L 0e's + z6'€T L 1e0 I — L ec0
Losezt+ 810 - 5
ﬁ L 00€ + vL€TT A L €00 - N - 00€ 1 98°€7T- 1ocor £ 960
N 2 L s8'€21 4 500
Lroggt+ 200 A
a @ o @
0 0 S
M < m <
B m L 000 -+ 08'€ZT+ 8L'€2T4 €00 w m - 000 -+ z6'€ZT -+ 06'€ZT -+ 200
a D o o
+ +
ok, o
S mk - ogez+ SO0
~ ~
- €6'T - 9L'€eT - SLECT+ 100 -
- 9T’z 4 88'€CT -+ I8'€ZT+ £L0°0
%k o
o X
; ]
o~
- 00°€ + vLECT A - v00 - 00°€ - 98'€CT L oT'0
L 00% -+ 08'€2T - L 600
- €LV - 9L°€CT - 800
L 667 -+ 29'€T - L 200 -
L €6's -+ 96721 L 990
L €9 -+ 96721 A L 90
L ooz + + + - L o0z + veeeT 4 1+ o
: g% 3 51 ¢
~ © > ~ © >
~ © o— c ~ e} o— c
E & o ‘wm | @ S = 5] wm | @ S
[ - ) o RY) = 5 [ o RY) =
Il v [\ il (<P ©
I — () ()] S I = <] <&} o
= = = c c =2 = = c c c =2
AR AEAR: 215|585
3 oz o3 R 3 o3 o3 R
N N ©} N ~N O
O o' o' 14 o o' o' 14
L €8, -+ STYCT L se0
L evL -+ sLeeT L 800
L €19 -+ sLeTT L 110
L 86'S + Tv'eel - L 9z0 - L 86'S -+ STYLT A L 9g0
L ST'S -+ 8y'eeT - L 620 - L ST's -+ zever S L 8€0
f . . . ) . __ kvovzr4+ wzo
- o00e - 1eeer - og€eT+ w00 - ﬁ L 00'€ -+ ST'¥eT L 170
L seeet -+ 200
%ﬂ %ﬂ
S )
o~ o~
L ovezt -+ 00 - a w - SoveT 4 ¥T0
©0
N
L 000 4+ /e€CT+ LE'€TT 4 000 B m L 000 + TTveT 4 sover 4 STO
a N
od&
N o
ok Wk
~ ~
- TE€CT -+ 200
| Tover | 910
- 207 g€ttt 62°€ZT+ Y00 - L oevz 4 vt ggper+ 968
%k %k
o =)
§ 1l
L 00'€ + TEETT A L 00 - L 00'€ -+ ST'YeT A L 610
- 00% + ST'ETT A - 900 - 00 -+ 60T - 810
L oz's -+ 6TETT A L 950
L o5 -+ 6TETT A L €50
069 | eovzr £€°0
- 00L + 4 £ - F I u £
00'L
3 $ 1% 3 51
~ © > ~ @ >
~ © = c c ~ o} — c
m £ o w | 2 S E E o w |2 S
© & © o s & R g © o [ s
S 3 C © RY] r S 5 o © RY] r
1 By © 1 (g ©
N — () () S 1] = () (] o
= = = c c =2 = = c c c =2
AR AEAR: 215|585
3 oz oz N 3 oz oz XN
N N N N
O o' o' 14 o o' o' 04
L €8L -+ vvveT- L se0
L €z -+ vOvTT S L 800
L €19 -+ vOvTT - L 110
- 86'S - ¥SVTT L se0
- EUS T oTECl - €0 - ST'S + 09721 - 8€0
L ovy -+ ev'eTT - L veo -
L zever 4+ vz
- 00°€ + LTELTH orezr 4+ FEE T - 00t -+ eyl C kEg
3 LozezT+ 110 - 2
o L 8evzT 4 600
o
n <
L 000 -+ €€€eT+ 8z €CT 4 800 ¥ w - 000 -+ evver 4 LeveT+ 2O
a
od&
N N
o.k L szeet+ 200 - ok
o~ o~
- CTT ++ 6TECT+ STECT+ Y00 L vT'z 4+ Svvet 4 eever 4 210
%k %k
) )
o o~ ﬁ
L 00€ + Lz'€TT A L 00 - L 00'€ -+ evver - L 10
L 00V -+ TZ'ETT A L 900 - L 00V -+ LEvTT A L €10
L oz's -+ SETT S L 190
L o5 -+ sETT S L 850
069 | sever 87°0
- 00°L + =+ 4 - -y I 31 +
00'L
3 g |6 8 g |6
~ © > ~ @ >
~ © = c c ~ o — c
E ¢ o o | @ 5 £ S w | 2 S
J ] s | 2|5 ¥ 2 g s | 2| 5| %
s g S | o | 2 = S S S| - | L =
1 0 = ) ) ) " I = () ) s
= =z S = = s = =z S = = s
0 N 0 N
3 o3 o3 3 5 o3 o3 3
N N N N
O o o 14 o o' o' 14
- €8°L + SLETT - vzo - €8 - 2LV L szo
- €TL + SEETT A - 610 - €TL  TEVLT A - 810
- €49 + SE'€TT - 120 - €49 - ZEVLT A L 120
L 86's + S8'€TT - L szo - L 86's -+ z8'eT - L 9z'0
L ST'S -+ T6'€7T - L czo - L ST's -+ 68'2T - L 870
- 00'€ -+ vL'€eT - SLEZT+ 000 - - 00t +zvel 4 7z vzr = 669
L €2vZ1 4 000
%ﬂ ®
) )
~| L og'€zT -+ €00 - ~
o
o
M S
- 000 - 08'€ZT I8'€CT+ 000 - 9 w - 000 -+ 8LvZT+ 6£4ZT+ T00
o
&,
S )
J !
L osgeT - 100 L vovet 4 100
L 86T -+ vLveT 4 €Lv2T4 100
- Tz - or€et - vLsTi++ 200 - <
N S
2l s
o~
L 00€ + vL€TT A L so0 - L 00'€ -+ zLveT S L 00
L 00V -+ 89'€2T - L vo0 - L 00V - 9972t - L €00
L 0z's -+ 88°7T L oo - L 0z's - 98°€eT - L 120
L oS -+ 88°7T L 890 L o5 -+ 98°€eT L 690
069 | goerr 8T°0 069 | ggvzr LT°0
" oor T T T 7 " oor T T T
3 g |6 8 8|6
~ e} — c ~ e T [
= o ‘wm | @ S = o) ‘wm | @ S
8 c | 9| 5| & 8 8 o | 9| 5| &
3 o © K% = =g o © R =
1 v © I O @®
2 I ‘= () () S 2 n c v ) o
z S 5 5 = z S 5 5 'c
(%] N (%] N
3 o3 o3 : 5 o3 o3 :
N N o N N o
O o o 14 o o o 14
L €8'L + LyvTT A L 10 - L €8L - €6'v2T - L zzo
L €z + L0vTT A L 9z0 - L €vL -+ €sveTS L 170
L €19 + L0vTT A L 620 - L €19 -+ €SI A L €70
L 86's + /SvTT - L 10 - L 86's -+ €0'STT A L €70
L ST'S + €9'v2T - L ozo - L ST's -+ 0T'seT A L szo
€SveT | L00
F o F 7 S6veT | 010
L 00e 4 ovvzro ESVCL L 468 - o0e resvIE T €00
N X
o o
~ ~
o
& o L 90'seT+ 800
n <
L 000 4+ zSveT+ 09'vZT 4 800 B w L 000 + 66'72T 4 v0'SZT4 SO0
a ©
gy .
° X
EN o
2 ~
. ) ) ) - 88T - S6'vZI - 86'VZI -+ €00
- v0'z + 8v'veT - TSVZT -+ €00 -
g ﬂ
~ ~ ﬁ
- 00°€ + 9Y'¥TT - 000 - 00'€ - €6'7CT - 000
L 00% —+ Ov'veT - L 100 - L 00V - £8¥2T - L 100
- 0TS + 09°€7T - szo o - 0TS -+ LOYET L sL0
L 0L'S + 09°€2T - L €0 - L oS -+ L0veT S L 20
| 069 | opper | | €10 | | 069 | seper | | vT0
00'L 00'L
: g% 3 51%
~ © > ~ © >
e : © — q C c ~ ko] _ q c
~ € o () — o ~ € o () ~ ho]
~ — o © 2 = ~ o &) Ee} k% o
! I 2 (0] (0] @ " 1 2 (0] (0] ®
= = = = c L = = c c c O
35 o ke C > o ke C
%] N %) N
3 o3 o3 R 3 o3 o3 R
N N ©} N ~N O
O o' o' 14 o o' o' 14




